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CHAPTER 2 REVIEW

1. If k(x) = —2x -5, then find k(7).

3 T
X-value
k(#=-3(H-5
k(P=-4 -5
k()= -4 -1
D
)

K(#)=

2. If m(x) = 8x— 15, then find m(—%’)).
X-value

m(-3) = o(-3) -
m-3=-24-15

m (-3) = =39
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N —Value
3 AV
3. If g(x) = 9%~ 9, find x when g(x) = 15.
15T 2x—4
44 + A9
Z'—} T+ X

3
2
“o::)(

4. A small town in SC had a population of 6328
in 2000. By 2008, the population had
increased to 9256.

a) If p(x) = 366x + 6328 can be used to find

the number of people living in this town
and x represents the number of years
since 2000,_and explain what

X-Value &— 3o £ yeats since 2000

this means.

p22)= 366(22) + 329 In 2022, +he,
p(2)= 9052 + 6328 popvlatbion of this
pD) = 4,390 town was 14,390,

b) If p(x) = 12,550, find x and explain what

this means.
¥< |:)-_- \2, 550

—g328 —6328 n 2917, the populabion
: was lz, 950,
B | 366
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5. Find the x-intercept and y-intercept of each
equation below. SHOW ALL WORK.

a) 5x+ 10y = —30 _X-int

SX +0607) = —30

x-intercept = 7 © 5X = -3

int { = 2 2 >
y-intercep X=—G

b) 4x-9y =18 Hx — ale) = g

2 X =1
x-intercept = 2 °Fr 4.5 FETE

q
_2 %s%orH.S

y-intercept =
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6. Graph the equation below by finding the
x-intercept and y-intercept. Show your
work below the graph.

—8x + 12y = 48

X~Int = 6
y-int = -4y A

Y= N+ b
7. a) Rewrite the equation 4x -3y =12 in

slope-intercept form.
7( - 37( +=\2

2By F-Ux + 12
2

BE=

y

b) What is the slope? -5

c¢) What 1s the y-intercept? "‘L\
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~ = M + b
8. Graph the equation below from
slope-intercept form.

5 — _SyP 0 = -
y:1x72 m= qﬂgl'ﬂ;y 'htﬁ‘ 2

stacrti ng pol nt

o
/}‘

7]

£

/

/

o

9. Graph the equation below by converting to
slope-intercept form. Show your work

below the graph. o

A
,}2/ 2y & 6 B
+ DX

7
—2N F —_—
=¥ 1OX — & \

\/=-‘-"5X+3 \
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=+
10. Write an equation in slope-intercept form of
the line graphed below.

P
/}‘

| —

£

N

@7

/
/

/£

Sy 2= aR SRR LA ]

)

N

\
Answer: \I/ — T"T x + 2)

~ =wWX+ b

11. Write an equation in slope-intercept form of
the line graphed below.

g
1}_‘

snsvers Y = TLX =5
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12. Graph the equation. x = -6 verbical hr\&

13. Graph the equation. y=3

.......... 10 -
—+——+—+++++++1
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.......... 10 4
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¥
——t—
.......... 10+ «x
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